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30,667,022 24,500,000 6,167,022
19,067,520 18,656,820 410,700
18,780,814 18,380,114 400,700
936,400 535,700 400,700
OVMESTHE SA=L(SHMUAL) 270,900
801,400 400,700 400,700
- 13mm <Z &>530,000& x 2008 -<J| E>530,000& x 100 = 53,000
- 20mm <& &>580,000& x 1008 -<J| 8>580,000& x 50N = 29,000
- 25mm <Z &>610,000& x 2008 -<J| &E>610,000& x 100 = 61,000
- 32mm <Z &>630,000& x 408 -<J| &H>630,000& x 20& = 12,600
- 40mm
<Z&>1,020,000& x 208 -<J| &>1,020,000& x 10& = 10,200
- 50mm
<& &>1,100,000& x 208 -<J| &>1,100,000& x 10& = 11,000
- 80mm <& &E>3,200,000& x 168 -<J| &>3,200,000& x8& = 25,600
- 100mm
<8 &E>4,200,000& x 148 -<J| &>4,200,000& x7& = 29,400




0 (600) ARl & 0 (610) Y& HE © (612) 2 HaZA22 = 1 (01) AESBMEY (ol mel)
i = D) x o _ _
a g NZ = L Y & = °1 =
- 150mm
<& &>5,300,000& x 10&-<J[&E>5,300,000& x5& = 26,500
— 200mm <8 &>6,300,000& x 48 -<J|E>6,300,000& x2& = 12,600
O MEAEE ZA UHTY +A(SHAMAALY) 129,800
— 13mm <Z&>210,000& x 2008 -<J| &>210,000& x 100X = 21,000
— 20mm <& &>260,000& x 1008 -<J| &>260,000& x50 = 13,000
— 25mm <Z &>285,000& x 200& -<J| &>285,000& x 100 = 28,500
- 32mm <& &>320,000& x 408 -<J| &E>320,000& x 208 = 6,400
— 40mm <& E>620,000& x 20& -<J| &>620,000& x 10& = 6,200
— 50mm <& &>680,000& x 20&-<J| &E>680,000& x 10& = 6,800
— 80mm <d&>1,100,000& x 16&-<J[&>1,100,000& x 8& = 8,800
— 100mm
<& &E>2,100,000& x 148 -<J| &>2,100, 000& x 78 = 14,700
— 150mm
<Z &E>3,200,000& x 108 -<J| &>3,200, 000& x 58 = 16,000

- 200mm  <H&E>4,200,000& x 4&-<J[E>4,200,000& x2& = 8,400
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0!

©(170) HEdos+e Mg (171) NEdE2E3+¢ 2 (01) NEESE=S=+E (che] : R=S)

o oo | L& |y o & £ ] =
3,517,896 | 1,173,806 | 2,344,090
3,478,806 1,138,806 2,340,000
3,448,806 1,108,806 2,340,000
O M+caon=ea 9
3,448,806 1,108,806 2,340,000
<& &E>65,000,000& x 48M -<J| &>65,000,000% 12& = 2,340,000

BRI 2 X 4,090 0 4,090
JIEHRH 2 & 4 4,090 0 4,090

O Q2s 4+ SN =Hoe
4,090 0 4,090

<& &E>4,090,000& x 1A-<I|H>0& = 4,090




1 (900) 0123 g 1 (920) 01”3 Mg (921) 01823 = (01) 01”2 (Sl : HE)

o = . ] _
o ME = IR N I - B =R & & ol &
== 8,081,606 4,669,374 3,412,232
920
VEE]
8,081,606 4,669,374 3,412,232
921
NEE
8,081,606 4,669,374 3,412,232
01 O Ol&E= <A A>8,081,606,000& -<J|&>4,669,374,000& = 3,412,232
== 8,081,606 4,669,374 3,412,232




